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Paper : COM-RC-4016
: ( Corporate Accounting)

Full Marks : 80

Time : Three hours

The figures in the margin indicate
- Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :

1x10=10
were AR Rot SRif) ey B ¢

(a) Capital reserve arising out of revaluation
of assets is also available for issue of
bonus share.

(State whether the statement is true or
false)

Contd.



TR AT o S cgat e el ® RN I TR @A M
/91 6 SsiE ot 3R <R | oIS et Fewifer i “Retis 71 ov Fwpre
(Cf&es! o5 71 a7 3 AR IR T |
(b) The buy back of share does not exceed (Sfedrs warer e oromer e =)
per cent of the total paid up (7 In case of internal reconstruction only
capital and free reserves of the company. the shareholders are required to
~ (Fill in the blank) sacrifice.
G 7Y W & IR R>NR T A& (State whether the statement is true or
ik I SMINFS Toiew A % ©J false)
e - @RI (N7} 31 579 79) SRR 2T CFa® 7] eI GIRCS it
(c) Remuneration paid to an auditor is TR IRAMA | (©fD om 7 wom G
shownr in the statement of Profit and (g) In case of partly owned subsidiary the
Loss as ‘other expenses’ under the main

question of minority shareholders will

head . (Fill in the blank) ' not arise. '
o1l =i ARTNY T 9N FAS-cEITEH ' (State whether the statement is true or
e o1 o T GRS S T false)
fRorest oyt = (T} 312 73 ) SRFRFSI S (iiT e SRS
(d) State onereason for issuing right shares A SN A 2 |
to the existing shareholders. (Cfehr o & oo% )
WWWWWWW Seeteig R (h) Under super profit method, valuation of
R <GB! PR S 371 | goodwill is based on the average
(¢) Payment made to the creditors in final ;  super profit earned by th.e l?us1ness.
. t of th © | (Fill in the blank)
settlement o the transferor company is |
not included in purchase consideration S Fe sEee IRAR AN TG =S
gt. amallg;mation. - ' AT @i fofs 3R e w1 =)
ate whether t j
faloe) r the statement is true or (T} 512 939 1)
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(i) “Financial gain is one of the advantageg
of amalgamation.” ,
(State whether the statement is true or
false)

“Nf A GFAEET B ey |7
' (Cfetht e (o wom @30)

() Mention one mode through which
alteration of capital may be done by a
company.

CRIS2AITICH 14 T 4 ofat <51 o1 BT
911

Answer the following questions - 2x5=10

Ooiq AR Bl fodl g

(@) When and how profit js capitalised ?
(Fhogl wig m%wqﬁ@w@?

(b) What is purchase consideration in the
content of amalgamation 7
TR ARefres @ ’
sy 1 R 3fewe &

c) Whati -
(c) s buy-back of shares ?

WQ‘T%WWW%?
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@ (d) Explain the treatment of ‘preliminary
expenses’ while preparing the final
accounts of a company.

@l 1E POl f25iee ‘eafes IR 2ot !
T 40 |

(e) What is cost of control in the accounts
of holding company ?

4T (@A f2bieie FaEes I i 62

3. Write brief answer of any four of the
following : 5x4=20

weTe TRl R bifebrs R v Tes fua

3 (a) State the conditions to be fulfilled by a
' ' company to buy-back its equity shares.

B0 TN S T I AE A GBiR
5[0 TR TN HOER S T4 |
(h) Mention the purposes for which

‘securities premium reserve’ received by
a company can be utilized.

GGl @ i dfoefer wfkae e & o
TS RS e A, S 41 |

(c How is a scheme of interval
reconstruction is prepared ?

ST 57 15T B (FIACD LT ] 2 2
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(d) The following is the extract of Tril
Balance of Prapti Limited as on 31-3-

\.

(e) Pass Journal entries in the books of

2023 : transferee company under ‘purchase

2} fifibon 31-3-2023 wifivs Tye method.’

Remmeias sieiRes were iy =7 3
Opening inventory (ma@fﬂm Ap) 18,200 RIS AR (FAINE ILS T & e W
Sales (k&) 2,73,000 &R e
m (W(ﬁ&)"‘ﬂ) 5,000 () The net assets of Prajapati Ltd. were

chases (&%
Salos ret:ms e 2,15,500 valued as goodwill Rs.28,200, fixed
' 3,000 ST

Dividend Received (1St 1) = 300 assets Rs.9,00,000. It has the liabilities
Import Licence fee (WW%W) 2’ 400 as preference capital Rs.1,00,000.
Auditors fee (R5tst ‘ﬁ’mﬂm) 1’000 debenture Rs.5,00,000, trade creditors
Staff welfare expenses (aw’s[%]qwqw@) 2:000 | Rs.1,25,000. The company has 5,000
Machu.lery (}W"E% 71,000 ! equity shares of Rs.10 each. Find out
Advertisement (1) 4,300 the intrinsic value of one equity share

Interest on debenture (Yisieg @size S) 1,000

You are required to prepare 5 statement

of Profit and Loss after considering the
following : |

were il R Ao o) I
RfS erge =t ¢ e

Closing stock on 31.3.2023is Rs.18.000.

on net assets basis.

aig1oifS FRIETT TP F=ifeT T IAF, A=
28,200 B3I, TR =& 9,00,000 T 1 ZAF
CRPTE T SaifdeRT® LA 1,00,000 B,
445 5,00,000 B3, JIARI ANSTWE
1,25,000 531 | (I=IINIOR A 10 Tt

GINAV R 3 |
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Answer the following questions : (any four)

10x4=40

e emiRenes Yes faat ¢ (Rigeieat 5161

(a) From the following balances of Polok Ltd.
as on 31-3-2023, prepare a Balance
Sheet as per the Companies Act, 2013 :

31-3-2023 $ifis 4t fArHe Tges =111 2013

5 (NN SiE PR oo fifites Tye
ffesia erge 71 3
24,000 Equity shares of Rs.100 each 24,00,000
#fTh1e 100 St 24,000 T T |
Sundry Creditors 3,20,000
fiRRa shemmrq
ICICI Bank Loan 2,00,000
ICICI @%F 3¢
Proposed Dividend 1,20,000
21 At
10% Debenture 10,00,000
10% %9
General Reserve 2,20,000
e off
Securities Premium Reserve 1,20,000
affogfoq ot I
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Surplus in statement of Profit & Loss on 31.3.2023  6,40,000

are-(eremi Rfed I
Live Stock

LRI

Land and Building
o & 7

Cash Balance

e A

Stock in trade
e

Loose Tools
T
Furniture

W

Plant and Machinery
a1 % TS
Sundry Debtors
iRy (R
Prepaid Rent

i 876 Ol
Investment
ot
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3,40,000

13,20,000

2,00,000

4,00,000

2,40,000

4,00,000

14,00,000

5,40,000

20,000

1,60,000
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You are required to prepare a Balance
Sheet of the company as per schedule
III of the Companies Act, 2013.

2013 59 (RN SI% 5} 111 St g2

T ¥feia e = |

(i)  The existing shares to be made fully
paid up without the shareholders
having to pay anything,
CRRIC 0 M Wfeaiess a6smg GRHAZ
ol sifieaiig 3y MRR AT |

() Each shareholder to be given bonus

shares for the rémaining amount.
The shares to be valyeq at Rs.125.

Give journal entrieg in the books of
the company for issuing bonus

shares.

I 7 Y% R o s
TP e e | SRR 125 Gl
TR R &N

IS =% Rz g

Ry RS

4 (Sem-4/CBCS) CAC/G 10

]

@ (b) The following are the Balance Sheets of
H Ltd. and its subsidiary S Ltd. as on

31st March, 2023 :

31.3.2023 siffgs H HiGe o= S Ffites

e FfSeia wete iz == 3

Particulars (R%ER)

Amount {3)

HLtd.

SLtd |

{1, Equity and Liabilities

Tl (IR
(1) Shareholders' Funds:
oY T
(a) Share Capital (3% ) :
Equity shares of Rs. 10 each
s ) et 10 Vet Wl

(b) Reserves and Surplus :
R

Surplus in statement of Profit & Loss
- R Mo
{2) Current Liabilities : Sundry Creditors
bie (s R e
Total ()

I1. Assets (7R%)

{a) Non-current Assets

Property and Equipment
w%m TR

() Non-current Investment

i fRF
Shares in S Ltd.
s e o

Total ()

1,20,000 | 40,000
10,000 | 4,000
54,000 | 12,000

1,84,000 | 56,000

1,36,000 | 56,000
48,000 | —
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1,84,000 | 56,000
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The shares were acquired by H Ltd. {§ ® Balance Sheet as on 31-03-2023

on 31st March, 2023 prepare the WESI-OMO%

consolidated Balance Sheet of the Particulars () R®

holding company and its subsidiary as L Equity ad Lishlities

R are AR
on 31st March, 2023. (1) Shareholders Fund
2023 57 31st T wRes H Bifie @ S e o
{a) Share Capital:

ifTEes o wiffarze 3312023 57 31st R

W6 ©If¥e holding company % 90,000 Equity shares of Rs. 10 each fully paid 9,00,000

subsidiary company I AfiiAige e fFfeoa o1 10 5% 90,000 3580 Wt

oS 11| pany 45,000 Preference shares of Rs.10 each 4,50,000

| oféth1 10 531T3 45,000 SRIRARE Tea
(c) What is meant by valuation of shares ? (“ b %serve;aand Surplus :
. N L)
th .
Explain the need for valuation of shares. | b Surplus (Deficit in statement of Pofit & Loss) 13,15,000)
2+8=10 y 3R (- o Refoq wofe)
Seelofa oI S R 3l 2 Siewiota EpRe g g:%-;u;m Lisbiltes
O [ F1Y | Debentures 1,35,000
(d) The following is the Balance Sheet of 9
o (3) Current Liabilities
verconfident Ltd. as at 31st March, o ol

2023: (a) Trade payables : Sundry creditors 1,15,000

31.3.2023 SIS SORARITS RREOT s AR e

e Hfoeid were fimt oo ¢ ' Total () | 12,85,000
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TR weta efTst 5 Sl g e
=ifCH! SR @ wsa 6 Sate Wefaet
= =
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Particulars () T ® (i) Goodwill, deferred expenses and
L. Assets (74f) : deficit in statement of Profit & Loss
(1) Non-current Assets were to be written off, machineries
e i to be depreciated by Rs.80,000,
Proverty and Equipment : inventory to be written off by
o Wg;ywq;:? e Rs.60,000 and provisions on
Vachi (vre:nﬁs)' debtors to be kept for Rs.40,000.
achinery 4,50,000
) Goodwill (1) 45,000 I, Reiro 373 S 711 (IR e
() Other Intangible Assets : Trade Mrk 90,000 o e Reidice i SR AP et
o) o6 T 3%y B 80,000 Srrs wizs Reifice arf R A |
(2) Current Assets (o 7€) : Tge#iy 60,000 5 W ReAdics a
() Inventory (6% %) 3,40,000 FRI A A% (IMIST 89IFS 40,000 5
(b) Trade receivables : Debtors 3,60,000 e S T R A
TP 2 2 G y f Pass Journal entries to record the
Total () [ 12,85,000 N same and show the Balance Sheet
The company adopted the following b of company. 6+4=10
scheme of reconstruction : T BHeE I AR T AR f
@I OIS Amofom S 22 33 ¢ o (Pl 078 (el (a1
(i) The equity shares were to be (e) Explainthe various methods of valuation
reduced by Rs.5 each and the of Goodwill.
preference share to Rs.6 each. FFAI JEDER RS 4=l [N 1)

() Explain the meaning and objectives of

amalgamation of companies,

Ealll
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(g) Discuss the procedure of issue of bont?,

shares. State the accounting entries to
be made in the books of the company
for issue of bonus shares. @ 4+6=10

i oIl Rfer AR Sicaieal 331 135 S
Rfer AR @R Qs M e
ARRTR T@EL 1|

(h) (i) Explain briefly the amalgamation in
the nature of merger.

oifierl agfer qrdieor Rea sts |,
SIS 3 | [
(i) Distinguish between bonus shares
and right shares. ’
I T BT TP AKIAGT WS 4l l
oftefey fordt |
5+5=10
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